Confidentiality Requested: Yes No

KANSAS CORPORATION COMMISSION **OIL & GAS CONSERVATION DIVISION**

1074351

Form ACO-1 August 2013 Form must be Typed Form must be Signed All blanks must be Filled

WELL COMPLETION FORM WELL HISTORY - DESCRIPTION OF WELL & LEASE

OPERATOR: License #	API No. 15
Name:	Spot Description:
Address 1:	
Address 2:	Feet from North / South Line of Section
City: State: Zip:+	Feet from East / West Line of Section
Contact Person:	Footages Calculated from Nearest Outside Section Corner:
Phone: ()	
CONTRACTOR: License #	GPS Location: Lat:, Long:
Name:	(e.g. xx.xxxx) (e.gxxx.xxxxx)
Wellsite Geologist:	Datum: NAD27 NAD83 WGS84
Purchaser:	County:
Designate Type of Completion:	Lease Name: Well #:
New Well Re-Entry Workover	Field Name:
	Producing Formation:
	Elevation: Ground: Kelly Bushing:
☐ GG ☐ GSW ☐ Temp. Abd.	Total Vertical Depth: Plug Back Total Depth:
CM (Coal Bed Methane)	Amount of Surface Pipe Set and Cemented at: Feet
Cathodic Other (Core, Expl., etc.):	Multiple Stage Cementing Collar Used?
If Workover/Re-entry: Old Well Info as follows:	If yes, show depth set: Feet
Operator:	If Alternate II completion, cement circulated from:
Well Name:	feet depth to:w/sx cmt.
Original Comp. Date: Original Total Depth:	
Deepening Re-perf. Conv. to ENHR Conv. to SWD	Drilling Fluid Management Plan
Plug Back Conv. to GSW Conv. to Producer	(Data must be collected from the Reserve Pit)
_	Chloride content: ppm Fluid volume: bbls
Commingled Permit #:	Dewatering method used:
Dual Completion Permit #:	
SWD Permit #:	Location of fluid disposal if hauled offsite:
ENHR Permit #:	Operator Name:
GSW Permit #:	Lease Name: License #:
	Quarter Sec TwpS. R East West
Spud Date or Date Reached TD Completion Date or Recompletion Date Recompletion Date Recompletion Date	County: Permit #:

AFFIDAVIT

I am the affiant and I hereby certify that all requirements of the statutes, rules and regulations promulgated to regulate the oil and gas industry have been fully complied with and the statements herein are complete and correct to the best of my knowledge.

Submitted Electronically

KCC Office Use ONLY				
Confidentiality Requested				
Date:				
Confidential Release Date:				
Wireline Log Received				
Geologist Report Received				
UIC Distribution				
ALT I II III Approved by: Date:				

	Page Iwo	1074351
Operator Name:	Lease Name:	Well #:
Sec TwpS. R East West	County:	
INCTRUCTIONS. Chave important tapa of formations panatrated	Datail all carea Bapart all	final conice of drill stome tests giving interval tested, time test

INSTRUCTIONS: Show important tops of formations penetrated. Detail all cores. Report all final copies of drill stems tests giving interval tested, time tool open and closed, flowing and shut-in pressures, whether shut-in pressure reached static level, hydrostatic pressures, bottom hole temperature, fluid recovery, and flow rates if gas to surface test, along with final chart(s). Attach extra sheet if more space is needed.

Final Radioactivity Log, Final Logs run to obtain Geophysical Data and Final Electric Logs must be emailed to kcc-well-logs@kcc.ks.gov. Digital electronic log files must be submitted in LAS version 2.0 or newer AND an image file (TIFF or PDF).

Drill Stem Tests Taken (Attach Additional She	eets)	Yes No		-	on (Top), Depth a		Sample
Samples Sent to Geolog	jical Survey	Yes No	Name	Э		Тор	Datum
Cores Taken Electric Log Run		☐ Yes ☐ No ☐ Yes ☐ No					
List All E. Logs Run:							
	CASING RECORD New Used Report all strings set-conductor, surface, intermediate, production, etc.						
Purpose of String	Size Hole Drilled	Size Casing Set (In O.D.)	Weight Lbs. / Ft.	Setting Depth	Type of Cement	# Sacks Used	Type and Percent Additives
		ADDITIONAL	CEMENTING / SQU	EEZE RECORD			
Dumana	Dopth						

Purpose: Perforate	Depth Top Bottom	Type of Cement	# Sacks Used	Type and Percent Additives
Protect Casing				
Plug Off Zone				

Did you perform a hydraulic fracturing treatment on this well?	Yes
Does the volume of the total base fluid of the hydraulic fracturing treatment exceed 350,000 gallons?	Yes
Was the hydraulic fracturing treatment information submitted to the chemical disclosure registry?	Yes

Yes	No
Yes	No
Yes	No

(If No, skip questions 2 and 3) (If No, skip question 3)

(If No, fill out Page Three of the ACO-1)

Shots Per Foot	PERFORATION RECORD - Bridge Plugs Set/Type Specify Footage of Each Interval Perforated			A	Acid, Fracture, Shot, Ce (Amount and Kino	ement Squeeze Record I of Material Used)	Depth			
TUBING RECORD:	Siz	ze:	Set At:		Packe	r At:	Liner Rı	un:	No	
Date of First, Resumed	Product	ion, SWD or ENHR	•	Producing N	lethod:	ping	Gas Lift	Other (Explain)		
Estimated Production Per 24 Hours		Oil Bbl	S.	Gas	Mcf	Wate	er	Bbls.	Gas-Oil Ratio	Gravity
DISPOSITI	SITION OF GAS: METHOD OF COMPLETION: PRODUCTION INTERVAL:				:R\/AL·					
Vented Solo	_	Jsed on Lease		Open Hole	Perf.	UN COMPLE Dually (Submit)	Comp.	Commingled		
(If vented, Su	bmit ACC	0-18.)		Other (Specify)		(Submit /	,	(Submit ACO-4)		

Form	ACO1 - Well Completion	
Operator	Lotus Operating Company, L.L.C.	
Well Name	Kersten 1	
Doc ID	1074351	

All Electric Logs Run

Dual Induction
Neutron Density w/PE
Sonic
Micro

Form	ACO1 - Well Completion	
Operator	Lotus Operating Company, L.L.C.	
Well Name	Kersten 1	
Doc ID	1074351	

Tops

Name	Тор	Datum
Heebner	3696	-2330
КС	4276	-2910
ВКС	4512	-3146
Miss	4766	-3400
Kind Sh.	5044	-3678
Viola	5147	-3781
Simp Sh	5236	-3870
Arb	5440	-4074
LTD	5500	-4134



RECEIVED

PO Box 470308 Fort Worth, TX 76147 JAN - 7 2012

INVOICE Invoice Number: 129741

Invoice Date: Dec 28, 2011 Page: 1

Federal Tax I.D.#: 20-5975804

(817) 546-7282 Voice: Fax: (817) 246-3361

Bill To:

Lotus Operating Co., LLC Lotus Exploration Co. 100 S. Main, STE 420 Wichita, KS 67202

Custom		Well Name/# or			Payment T	
Lotus Job Location KS1-01		Kersten #1 Camp Location Medicine Lodge		Net 30 Days Service Date Dec 28, 2011		Due Date
						1/27/12
Quantity	Item		Description		Unit Price	Amount
	MAT	Class A Common			16.25	2,193.7
90.00	MAT	Pozmix			8.50	765.0
3.00	MAT	Gel			21.25	63.7
7.00	MAT	Chloride			58.20	407.4
235.00	SER	Handling	ENTERED		2.25	528.7
20.00	SER	Mileage			25.85	517.00
1.00	SER	Surface	JAN 1 0 2012		1,125.00	1,125.00
40.00	SER	Heavy Vehicle Mileag	e		7.00	280.00
		Light Vehicle Mileage			4.00	160.00
1.00	CEMENTER	David Felio				
1.00	EQUIP OPER	Jason Thimesch				
1.00	EQUIP OPER	Adam Miller				
			9208 C. amod suf +1			
LL PRICES AF	RE NET, PAYAB	LE				6,040.6
30 DAYS FOLLOWING DATE OF INVOICE. 1 1/2% CHARGED THEREAFTER. IF ACCOUNT IS		F Sales Tax			250.3	
		Total Invoice Amount			6,291.0	
	KE DISCOUNT (Credit Applied			
\$1208		TOTAL				6,291.0
L		r l				- 1208.13
	<u>ON OR BEFOR</u> 22, 2012					\$ 5082.9

\$ 5082.90

ALLIED CEMENTING CO., LLC. 037864

9

Q,

э ú

о

Ð

			reae	rai tax i.	D.# 20-5975804				
REMIT TO P.O. E RUSS	BOX 31 BELL, KA	NSAS 676	65		,		SERV	ICE POINT:	eladeks
DATE 12-28-11	SEC.	TWP. 355	RANGE 11 w	C	ALLED OUT	ON L.C	OCATION	JOB START	JOB FINISH 3:45A
LEASE Kersten	WELL #	1	LOCATION	21 +	HJot, Eto C		2/	COUNTY	STATE
OLD OR NEW (CI				CO [4	1 JCI, E to C	alve,	345,	Barber	E
ULD OK NEW ICI	rcle one)		1/2N, E/i	nto					
CONTRACTOR TYPE OF JOB Set		#7			OWNER		Lotus		
HOLE SIZE / Y		тг	. 270		CEMENT				
CASING SIZE / O			PTH 250+	17:8%	AMOUNT OR	DEDEE	ns	~10.4c	1.21 . 17
TUBING SIZE	<i>/_</i> /		PTH	17 .70		DEREL	200	52 60.10	· 2/06012
DRILL PIPE			PTH		gel		· · · · · · · · · · · · · · · · · · ·		
TOOL			PTH		<u> </u>				10 ¹¹ d
PRES. MAX			NIMUM —		COMMON_[3	1e -			.
MEAS. LINE			OE JOINT A	ih.		2 20	KS "H		
CEMENT LEFT IN	ICSG 7/		OF JOINT M	<u>//</u>		O SO		_@ <u>8.50</u> _	765.00
PERFS.	redu.au			· · · · · · · · · · · · · · · · · · ·	GEL	3 500	KS	_@_ <u>&].85</u>	
DISPLACEMENT	241.	RELE.	1/170		CHLORIDE	1 SGC	cks	@_ <u>58.20</u>	407.40
DISTERCEMENT			-		ASC			_@	
	EQU	JIPMENT	•					_@	
								@	
PUMP TRUCK	CEMENT	ER D, F	il is			·		_@	
	HELPER							@	
BULK TRUCK			16-10-j				·	@	
#364	DRIVER	A.M:1	#.kc					_@	
BULK TRUCK		<u>e e e e e e</u>	9/2					_@	
	DRIVER						<u> </u>	_@	
	2				HANDLING_			@_2.25	528.75
					MILEAGE 🚅	<u>0/.11</u>	<u>/235</u>		517.00
-	, RE	MARKS:				. ,		ΤΟΤΑΙ	\$447510
Pipeon BHM, E	Sneak Car	e: w/	Ren & Su	uer M:	V				
1255× 60:140ce	ment Sto	at Dist.	u/Fresh HO.	1 2 SL.10	~		SERVI	CIF.	•
+ Ruck, See inc	rease in	PSI SI	no lete S	for Pin	n		SERVE	CE	
#2414 Bols, Sh	a the C	omenti	Dil Ciar	-pi way	DEPTH OF JO	b	267		
	<u> </u>				PUMP TRUCK				
					EXTRA FOOT			-	1125-
								_@	
					MILEAGE			@ 7.00	_280-
					MANIFOLD	N/A		_@	
					<u>W</u>		<u>_</u> (<u>1 @ 4.00</u>	160-
	1.	~						_@	
CHARGE TO:	Lotus	Open.							-
		'						TOTAL	31565.00
SINCEI								101112	
CITY	ST	ATE	ZIP						
					1	PLUG	& FLOAT	EQUIPMEN	T .
						4		_@	
m									
To Allied Cement								_@	
You are hereby re	quested t	o rent cer	nenting equip	ment				_@	·
and furnish ceme	nter and h	uelper(s) t	o assist owne	r or			•	@	·
contractor to do v	vork as is	listed. T	he above wor	k was					
done to satisfaction								TOTAL	
contractor. I have									
TERMS AND CO					SALES TAX (I	fAnv).			
		110 115180	a on the rever	se side.			\$1	ALLA L.C	
	~ .				TOTAL CHAR	GES		$W + U \cdot U$)

PRINTED NAME GALEN DROLL
SIGNATURE Gale S Rout

SALES TAX (If Any) -	<u> </u>	10
TOTAL CHARGES	sw	10.65
DISCOUNT	208	_ IF PAID IN 30 DAYS
Ne	t\$4836).52



RECEIVED

JAN 1 7 2012

PO Box 31 Russell, KS 67665

Voice: (817) 546-7282 Fax: (817) 246-3361

Bill To: Lotus Operating Co., LLC Lotus Exploration Co. 100 S. Main, STE 420 Wichita, KS 67202

Well Name/# or Customer P.O. **Payment Terms Customer ID** Net 30 Days Kersten # 1 Lotus **Camp Location** Service Date Due Date Job Location Medicine Lodge 2/1/12 Jan 2, 2012 KS1-02

Quantity	ltern	Description	Unit Price	Amount		
30.00	MAT	Class A Common	16.25	487.50		
20.00	MAT	Pozmix	8.50	170.00		
2.00	MAT	Gel	21.25	42.50		
175.00	MAT	Class A Special 4 9308	19.00	3,325.00		
875.00	MAT	Kolseal	0.89	778.75		
82.00	MAT	FL-160 DESC. Ceman praticity	17.20	1,410.40		
44.00	MAT	FloSeal	2.70	118.80		
280.00	SER	Handling	2.25	630.00		
20.00	SER	Mileage	30.80	616.00		
1.00	SER	Production WELL # Kerstn	2,695.00	2,695.00		
40.00	SER	Heavy Vehicle Mileage	7.00	280.00		
40.00	SER	Light Vehicle Mileage	4.00	160.00		
1.00	SER	Manifold Head Rental	200.00	200.00		
1.00	EQP	5 1/2 Rubber Plug ENTERED	73.00	73.00		
1.00	EQP	5 1/2 AFU Insert	286.00	286.00		
1.00	EQP	5 1/2 Basket JAN 1 8 2012	337.00	337.00		
5.00	EQP	5 1/2 Centralizers	49.00	245.00		
1.00	CEMENTER	Darin Franklin				
1.00	EQUIP OPER	Jason Thimesch				
1.00	EQUIP OPER	Eddie Piper				
ALL PRICES AF	RE NET, PAYABLI	Subtotal		11,854.95 531.00		
30 DAYS FOLL	OWING DATE OF		Sales Tax			
INVOICE. 11/2% CHARGED THEREAFTER. IF ACCOUNT IS		Total Invoice Amount		12,385.95		
	KE DISCOUNT OF					
		TOTAL	TOTAL			
\$23	0.99			- 2,370 9		
	<u>ON OR BEFORE</u> 27, 2012			# 10,014.96		

Invoice Number: 129815 Invoice Date: Jan 2, 2012 Page: 1

Federal Tax I.D.#: 20-5975804

INVOICE

ALLIED CEMENTING CO., LLC. 037914

3

Federal Tax I.D.# 20-5975804

- Sabrui				
REMIT TO P.O. BOX 31	SERVICE POINT:			
RUSSELL, KANSAS 67665	M-edicine Loase K.			
/	<u> </u>			
DATE 1-2-2012 SEC. 2 TWP. RANGE	CALLED OUT ON LOCATION JOB START JOB FINISH			
DATE 2-2012 2 355 116	6:00 Am 8:30 Am 12:15 pm 1.15 pm COUNTY STATE			
LEASE Kersten WELL # / LOCATION Ki	aus Jet \$ 281, ESSL m Curry Rechanger ES			
OLD OR NEW (Circle one) 3/4 esst	1/2 north, CRS+ 16+0			
CONTRACTOR DUKE # 7	OWNER LOTUS Operating			
TYPE OF JOB Production HOLE SIZE 775 TD 55001				
	CEMENT			
	AMOUNT ORDERED 50 50 60:40:4% 60			
	1755 Class A ASC +5# Kolsor			
	. 5% FL160 + V4 # Flosos,			
PRES. MAX MINIMUM MEAS. LINE SHOE JOINT 321	COMMON 30 SOCKS "A" @ 110.25 487.50			
CEMENT LEFT IN CSG.	POZMIX _20 SOLOKS @ 8.50 170.00			
PERFS.	GEL <u>2 SGC/LS @ 21,252.50</u>			
DISPLACEMENT 29 bbis of freshweter	CHLORIDE@ ASC CLOSS "A" 175 SOCKS @ 19.00 3325.00			
EQUIPMENT				
PUMPTRUCK CEMENTER Dern F				
#360-265 HELPER JGSON T.	@@			
BULK TRUCK	@			
# 381-250 DRIVER Edding P	@			
BULK TRUCK	@			
# DRIVER	HANDLING 280 @ 2.25 430.00			
	$MILEAGE = \frac{280 \times 11 \times 20}{1000}$			
REMARKS:	5			
^	TOTAL <u>47578-45</u>			
Pipeon bottom & breek Circule tien				
Mir 305- Hor Rathone, mix 205- Per mon	SERVICE			
Dole, Mry 1755 Of Cement, Shut Low Wash pump & lines, Release plus, Start				
WYON HUMP & lines, Kelesse ying , 04514	DEPTH OF JOB 3/87			

WSSA pump & liner, Relesse plús, 545rt DEPTH OF JOB 3/87' Lispiscement, Lift pressure st. 70tobis, 5/02 PUMP TRUCK CHARGE 19te te: 3 bpm 92 115 bis, bump plus si EXTRA FOOTAGE 125 bbis 1,000-1500 PSi, flort MILEAGE Lisholz MANIFOLD Hers rents/

CHARGE TO: Le	tus Operet	ng	_
STREET			-
CITY	STATE	ZIP	

To Allied Cementing Co., LLC.

ú

ż,

You are hereby requested to rent cementing equipment and furnish cementer and helper(s) to assist owner or contractor to do work as is listed. The above work was done to satisfaction and supervision of owner agent or contractor. I have read and understand the "GENERAL TERMS AND CONDITIONS" listed on the reverse side.

PRINTED NAME TALEN D Road SIGNATURE & Caler D Row Thank YOU!!!

PLUG & FLOAT EQUIPMENT

@

@

@

40 @ 7.00

40@_400

51/2			
1-Rubber Plug 1- AFU Insert	@		73.00
1- AFU InsPri	@		286.00
1-Besket	@		337.00
5-Centre 1, Zers	@	<u>ч</u> q-	245.00
	6		

TOTAL _\$941.00

2695,00

120.00

900.00

160.00

TOTAL 33.335.00

SALES TAX (If Any)	· · · · · · · · · · · · · · · · · · ·
TOTAL CHARGES	\$11,854.95
DISCOUNT	IF PAID IN 30 DAYS
Net	\$9483.96

Conservation Division Finney State Office Building 130 S. Market, Rm. 2078 Wichita, KS 67202-3802



Phone: 316-337-6200 Fax: 316-337-6211 http://kcc.ks.gov/

Mark Sievers, Chairman Ward Loyd, Commissioner Thomas E. Wright, Commissioner Sam Brownback, Governor

April 10, 2012

Tim Hellman Lotus Operating Company, L.L.C. 100 S MAIN STE 420 WICHITA, KS 67202-3737

Re: ACO1 API 15-007-23820-00-00 Kersten 1 SW/4 Sec.02-35S-11W Barber County, Kansas

Dear Production Department:

We are herewith requesting that the Well Completion Form ACO-1 and attached information for the subject well be held confidential for a period of two years.

Should you have any questions or need additional information regarding subject well, please contact our office.

Respectfully, Tim Hellman